



Name: _____

Date: _____ Score: _____

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{2}\right)^3 - \frac{3}{4} =$$

$$\left(\frac{1}{6}\right)^2 - \frac{2}{5} =$$

$$\left(-\frac{1}{2}\right)^3 + \frac{1}{6} =$$

$$\left(\frac{1}{4}\right)^3 - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{2}\right)^0 - \frac{1}{5} =$$

$$\left(-\frac{1}{5}\right)^3 - \frac{3}{4} =$$

$$\left(-\frac{1}{2}\right)^2 + \frac{3}{4} =$$

$$\left(-\frac{3}{4}\right) + \frac{1}{4} =$$

$$\left(\frac{1}{2}\right) + \frac{1}{4} =$$

$$\left(\frac{3}{4}\right)^3 + \frac{1}{6} =$$

$$\left(\frac{1}{2}\right) - \frac{1}{2} =$$

$$\left(-\frac{2}{5}\right)^3 + \frac{2}{5} =$$

$$\left(-\frac{3}{4}\right)^3 - \frac{2}{5} =$$

$$\left(\frac{1}{6}\right)^2 - \frac{3}{5} =$$

$$\left(\frac{3}{5}\right) - \frac{2}{5} =$$

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{4}\right)^3 + \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{2}\right)^2 + \frac{1}{5} =$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{2}{5}\right) =$$



Name: _____

Date: _____ Score: _____

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{1}{3}\right) = \frac{7}{12}$$

$$\left(\frac{1}{2}\right)^3 - \frac{3}{4} = \left(-\frac{5}{8}\right)$$

$$\left(\frac{1}{6}\right)^2 - \frac{2}{5} = \left(-\frac{67}{180}\right)$$

$$\left(-\frac{1}{2}\right)^3 + \frac{1}{6} = \frac{1}{24}$$

$$\left(\frac{1}{4}\right)^3 - \left(-\frac{2}{5}\right) = \frac{133}{320}$$

$$\left(\frac{1}{2}\right)^0 - \frac{1}{5} = \frac{4}{5}$$

$$\left(-\frac{1}{5}\right)^3 - \frac{3}{4} = \left(-\frac{379}{500}\right)$$

$$\left(-\frac{1}{2}\right)^2 + \frac{3}{4} = 1$$

$$\left(-\frac{3}{4}\right) + \frac{1}{4} = \left(-\frac{1}{2}\right)$$

$$\left(\frac{1}{2}\right) + \frac{1}{4} = \frac{3}{4}$$

$$\left(\frac{3}{4}\right)^3 + \frac{1}{6} = \frac{113}{192}$$

$$\left(\frac{1}{2}\right) - \frac{1}{2} = 0$$

$$\left(-\frac{2}{5}\right)^3 + \frac{2}{5} = \frac{42}{125}$$

$$\left(-\frac{3}{4}\right)^3 - \frac{2}{5} = \left(-\frac{263}{320}\right)$$

$$\left(\frac{1}{6}\right)^2 - \frac{3}{5} = \left(-\frac{103}{180}\right)$$

$$\left(\frac{3}{5}\right) - \frac{2}{5} = \frac{1}{5}$$

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{1}{4}\right) = \frac{41}{100}$$

$$\left(-\frac{1}{4}\right)^3 + \left(-\frac{1}{6}\right) = \left(-\frac{35}{192}\right)$$

$$\left(-\frac{1}{2}\right)^2 + \frac{1}{5} = \frac{9}{20}$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{2}{5}\right) = \frac{11}{40}$$